>N

Due date | Thursday 18t January 2024
Name Trinity
Academy

Grammar

GCSE Maths homework
11r1

Year 11 terms 3 & 4

Knowledge Check
Homework Sheet HAA3.1



Name : HAA3.1
Question 1 Question 2 Question 3 Question 4 12 3

Simplify 8 x 5v6 Simplify 2¥5 = 5v5 Find the nth term: 7, 12, 17, 22 Find the nth term 335 -
Question 5 Question & Question 7 Question 8

Solve cos x = 0.6 for O° < x < 360° Salve cosx=0.96 for O° < x < 360° Find the inverse function Find the inverse function

(correct to 1 d.p) (correct to 1 d.p) flx)=3x —1 flx) =3(x+2)

Question 9 Question 10 Question 11 Question 12

Find the next term in the sequence
11000, 1100, 110, ...

Find the next term in the sequence
1, 6, 36, ...

Find the equation of the line passing
through (-3, 12) and (3, -12)

Find the equation of the line passing
through (-4, 9) and (1, -1)

Question 13 Question 14 Question 15 Question 16
Solve using the quadratic formula Salve using the gquadratic formula Factorise Factorise
4+ Bx—2=0 dxi4x—1=0 xt+3x+2 10x% 4+ 13x + 4
Question 17 Question 18 Question 19 Question 20
Simplify x 2x Simplify X T +1 Write down the first three terms of the |Write down the first three terms of the
3t T 3 5 sequence sequence
x1=3 py1=xn—1 X3 =4 Xpy =21
Question 21
www.mathsbox.org.uk
What does ‘estimate’ mean? SCD re
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Due date | Thursday 25t January 2024
Name Trinity
Academy

Grammar

GCSE Maths homework
11r1

Year 11 terms 3 & 4

Knowledge Check
Homework Sheet HAA3.2



Name : HAA3.2
Question 1 Question 2 Question 3 Question 4 23 4

Simplify 8 x 2v2 Simplify 5V5 = V5 Find the nth term: 12, 22, 32, 42 Find the nth term =5 '3
Question 5 Question b Question 7 Question 8

Solve cos x =0.028 for 0° < x < 360° Solve tan x=-0.788 for 0° < x < 360° |Find the inverse function Find the inverse function

correct to 1 d. correct to 1 d. X x+2

* P) ‘ P) fo) =3 o)==
Question 9 Question 10 Question 11 Question 12

Find the next term in the sequence
5,15, 45, ...

Find the next term in the sequence
b, 18, 54, ...

Find the equation of the line passing
through (-2,-3) and (3, 7)

Find the equation of the line passing
through (1, -6) and (5, -22)

Question 13 Question 14 Question 15 Question 16
Solve using the quadratic formula Solve using the quadratic formula Factorise Factorise
5x2—6x—4=10 3x+x-3=0 x% +9x +18 20x% + 19x + 3
Question 17 Question 18 Question 19 Question 20
Simplify x+1 «x Simplify 4_3-'_ x+1 Write down the first three terms of the |Write down the first three terms of the
3 4 3 3 sequence sequence
.1’1 - 3 xn.'.-l - —3.1'1.1 _'4 I]_ = 1 xn+]_ = zxﬂ +4
Question 21

What is a ‘sector’?

Score CI

www.mathsbox.org.uk
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Due date | Thursday 1t February 2024
Name Trinity
Academy

Grammar

GCSE Maths homework
11r1

Year 11 terms 3 & 4

Knowledge Check
Homework Sheet HAA3.3



Name : HAA3.3
Question 1 Question 2 Question 3 Question 4 35 7
Simplify 9 x 5v3 Simplify 3v3 = 6v3 Find the nth term: 2, 7, 12, 17 Find the nth term =573 "
Question 5 Question & Question 7 Question 8
Solve sinx=0.828 for 0% < x < 360° Solve cos x=0.531 for 0° < x < 360° Find the inverse function Find the inverse function
(correct to 1d.p) (correct to 1 d.p) _x 3 _
f@) =3 f@) =—
Question 9 Question 10 Question 11 Question 12

Find the next term in the sequence
4,16, 64, ...

Find the next term in the sequence
4,8, 16, ..

Find the equation of the line passing
through (1, 10) and (-1, 0)

Find the equation of the line passing
through (-1,-3) and (3, 5)

Question 13 Question 14 Question 15 Question 16
Solve using the quadratic formula Solve using the quadratic formula Factorise Factorise
x2+9c+17=0 2x2—8x—2=0 x* —5x+4 8x* + 10x — 7

Question 17 Question 18 Question 19 Question 20
Simplify x4+1 x+1 Simplify X~ 2 _ - 1 Write down the first three terms of the |Write down the first three terms of the

3 4 3 5 sequence sequence

X3 =2 Xpe1 =Xy —5 x1=1 Xppa=-x, -1
Question 21

What is an ‘alternate angle’?

Score CI

www.mathsbox.org.uk
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Due date | Thursday 8% February 2024
Name Trinity
Academy

Grammar

GCSE Maths homework
11r1

Year 11 terms 3 & 4

Knowledge Check
Homework Sheet HAA3.4



Name : HAA3.4
Question 1 Question 2 Question 3 Question 4 5 8 11
Simplify 2 x 9V10 Simplify 3v6 = 6vV6 Find the nth term: 17, 29, 41, 53 Find the nth term 10'3°'12
Question 5 Question & Question 7 Question 8
Solve cos x = 0.643 for 0° < x < 360° Solve cos x =0.411 for 0° < x < 360° Find the inverse function Find the inverse function

tto 1d. tto1ld. +3 = 4f
(correct to p) (correct to p) flx) = x . +3 flx) x+1
Question 9 Question 10 Question 11 Question 12

Find the next term in the sequence
2, 6,18, ..

Find the next term in the sequence
b, 18, 54, ...

Find the equation of the line passing
through (-2, 4) and (0, 2)

Find the equation of the line passing
through (-3, 15) and (-4, 20)

Question 13 Question 14 Question 15 Question 16
Solve using the quadratic formula Solve using the gquadratic formula Factorise Factorise
5x2+9x+3=0 3x2+6x+2=0 x +8x +12 12x* —x -6

Question 17 Question 18 Question 19 Question 20
Simplify 2x+1 x-3 Simplify X~ 2 o 2x+1 Write down the first three terms of the |Write down the first three terms of the

5 4 3 5 sequence sequence

X1 =4 Xp41=—X,+6 X3 =3 ZXpe1=—2xy; —5
Question 21

What does ‘gradient’ mean?

Score CI

www.mathsbox.org.uk
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Due date | Thursday 22" February 2024
Name Trinity
Academy

Grammar

GCSE Maths homework
11r1

Year 11 terms 3 & 4

Knowledge Check
Homework Sheet HAA3.5



Name : HAA3.5
Question 1 Question 2 Question 3 Question 4 9 8 7
Simplify 3 x 7v3 Simplify 2¥5 x 5V5 Find the nth term: 0, 5, 10, 15 Find the nth term 011G
Question 5 Question 6 Question 7 Question 8

Solve tan x = 0.107 for O° < x < 360° Solve cos x=0.103 for 0° < x < 360° Find the inverse function Find the inverse function

correct to 1 d. correct to 1 d. X x+1

* P) ‘ P) fay=4 -3 fa)=5 -
Question 9 Question 10 Question 11 Question 12

Find the next term in the sequence
6, 30, 150, ...

Find the next term in the sequence
5,10, 20, ...

Find the equation of the line passing
through (-4, -15) and (1, 0)

Find the equation of the line passing
through (-1, -3) and (-2, -5)

What does ‘root’ mean?

Score CI

Question 13 Question 14 Question 15 Question 16
Solve using the quadratic formula Solve using the quadratic formula Factorise Factorise
2 4+5x4+1=0 X2 =Tx+10=0 x* +2x — 24 12x* - 19x +5
Question 17 Question 18 Question 19 Question 20
Simplify 1-x 2x-1 Simplify 2x — 4 + 2x +1 Write down the first three terms of the |Write down the first three terms of the
5 4 3 5 sequence sequence
Xy =4 Xpep = 2x,—4 X1 =4  Xp4q = 3x, -3

Question 21

www.mathsbox.org.uk
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Due date | Thursday 29t February 2024
Name Trinity
Academy

Grammar

GCSE Maths homework
11r1

Year 11 terms 3 & 4

Knowledge Check
Homework Sheet HAA4.1



Name :

HAA4.1

Question 1
Expand and simplify
[+ 3)(x+ 2)(x+1)

Question 2
Expand and simplify
(x-3)(x+2)(x+1)

Question 3

ris directly proportional to s. When
r =36, s = 9. Find the value of s when
r=40

Question 4

a is directly proportional to b. When
a =42, b =7. Find the value of a when
b=15

Question 5 Question 6 Question 7 Question 8

simplify 3(x+4) + 2(x—3) Simplif 4x+6 If fix) = 11 - x find the value of f(4) If f(x) = 27 - 2x* find the value of f(-5)
pliry >

Question 9 Question 10 Question 11 Question 12

Find the coordinates of the vertex
of the graph y = x> + 6x + 12

Find the coordinates of the vertex
of the graph y =x? + 8x + 10

Find the equation of the line
parallel to the line y=2x-6
passing through the point (2, 6)

Find the equation of the line
parallel to the line y—4x =1
passing through the point ( 2, 3)

Question 13 Question 14 Question 15 Question 16
. . x X x+2 x+1 =y =% -
Simplify = — = Simplif - Sketch the graph of y = x Sketch the graph of y =x-1
3 5 4 5
Question 17 Question 18 Question 19 Question 20
Aforce of 132 N acts over an area of Distance = 5 km, Time = 15 mins , Rationalise the denominator Rationalise the denominator
12 m*. What is the pressure? speed= ? km/h 4 4
V2 V3 +2

Question 21
What is a sector?

Score

www.mathsbox.org.uk




Se
Due date | Thursday 7t" March 2024
Name Trinity
Academy

Grammar

GCSE Maths homework
11r1

Year 11 terms 3 & 4

Knowledge Check
Homework Sheet HAA4.2



Name :

HAA4.2

Question 1
Expand and simplify
[x—2)[x—2)(x+1)

Question 2
Expand and simplify
(x+1)(x—1)(x+3)

Question 3

ris directly proportional to s. When
r =140, s = 20. Find the value of r
whens=13

Question 4

r is directly proportional to 5. When
r=234,s=18. Find the value of r
whens=12

Question 5 Question 6 Question 7 Question 8
Simplify 4(x-2)-3[x-3) Simplif (x+6)(x+1) If f(x) = 30 + 5x find the value of f(-3) | If f(x) =20 + 4x* find the value of f(-2)
imphry ——/////—
Pty S5x—2—4x+3
Question 9 Question 10 Question 11 Question 12

Find the coordinates of the vertex
of the graph y = x? - 10x - 25

Find the coordinates of the vertex
ofthe graphy=x"-4x + 8

Find the equation of the line
parallel to the line y=5x—6
passing through the point (-1, 3)

Find the equation of the line
parallel to the line y—2x=1
passing through the point (2, -3)

Question 13 Question 14 Question 15 Question 16

2x x x=2 x+1 = = Py
Simplify — — = Simplif - Sketch the graph of y = 2x + 2 Sketch the graph of y = 2x

3 3 3 5
Question 17 Question 18 Question 19 Question 20
A block has a mass of 125g and a A force of 144 N acts over anarea of | Rationalise the denominator Rationalise the denominator
density of 50 g/cm’. Calculate the 12 m’. What is the pressure? 3 4.2
volume. ﬁ \E 1

Question 21
What is a segment?

Srorp

www.mathsbox.org.uk




Se
Due date | Thursday 14th March 2024
Name Trinity
Academy

Grammar

GCSE Maths homework
11r1

Year 11 terms 3 & 4

Knowledge Check
Homework Sheet HAA4.3



Name :

HAA4.3

Question 1
Expand and simplify
(x+2)(x—2)(x-1)

Question 2
Expand and simplify
(x+4)(x-3)(x+1)

Question 3

a is directly proportional to b. When
a =224, b = 16. Find the value of a
whenb=12

Question 4

ris directly proportional to s. When
r= 180, s = 15. Find the value of r
whens=11

Question 5 Question 6 Question 7 Question 8
Simplify 4(x-1)-2(x+1) Simolif (x—2)(x—1) If f{x) = 26 - 3x find the value of f{-3) If f{x) = 20 - x find the value of f{1)
imph -_—
Pty 2(x—1)—x
Question 9 Question 10 Question 11 Question 12

Find the coordinates of the vertex
of the graphy=x*-2x+5

Find the coordinates of the vertex
of the graph y = x? + 4x - 10

Find the equation of the line
parallel to the line y=5x—1
passing through the point (-3, 2)

Find the equation of the line
parallel to the line 2y +6x=1
passing through the point ( 2, 2)

Question 13 Question 14 Question 15 Question 16

5x x x+6 x=1 = =2-
Simplify — — = Simplify - Sketch the graph of x +y =12 Sketch the graphofy=2 - x

3 2 7 5
Question 17 Question 18 Question 19 Question 20
Ablock has a volume of 70 cm*and a | Distance = 55 km, Time = 1 hour 15 Rationalise the denominator Rationalise the denominator
density of 3.5 g/cm®. Calculate the mins , speed = ? km/h 10 445
mass \E \E— 1

Question 21
What does rationalise mean?

Score

www.mathsbox.org.uk




TN
Due date | Thursday 215t March 2024
Name Trinity
Academy

Grammar

GCSE Maths homework
11r1

Year 11 terms 3 & 4

Knowledge Check
Homework Sheet HAA4.4



Name :

HAA4.4

Question 1
Expand and simplify
(x=1)(x—4)[x+1)

Question 2
Expand and simplify
(x+5)(x+1)x-2)

Question 3

ris directly proportional to s. When
r =208, s = 16. Find the value of s
whenr=195

Question 4

r is directly proportional to s. When

r =30, s = 10. Find the value of s when
r=36

Question 5 Question 6 Question 7 Question 8
Simplify 4(x-1)-(2x + 3) x¥i-—x-2 If f{x) = 21 + 2 find the value of f{-2) | If f(x) = 25 - x find the value of f(5)
Simplify ———
x—2
Question 9 Question 10 Question 11 Question 12

Find the coordinates of the vertex
of the graph y = x* - 10x + 25

Find the coordinates of the vertex
of the graphy = x>+ 12x + 26

Find the equation of the line
parallel to the line y = 6 - x passing
through the point (5, -1)

Find the equation of the line
parallel to the line 3y +9x =1
passing through the point (-3, 2)

Question 13 Question 14 Question 15 Question 16
x 2x x-2 x=-2 = - =yx2-
Simplify = — = Simplify _ Sketch the graph of y =10 -x Sketch the graph of y=x*-3
2 5 4 5
Question 17 Question 18 Question 19 Question 20
A block has a mass of 680g and a A force of 144 N acts over an area of Rationalise the denominator Rationalise the denominator
density of 80 g/cm’. Calculate the 12 m*. What is the pressure? 12 47
volume. V3 m

Question 21

What is indirect or inverse proportion?

Score

www.mathsbox.org.uk
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Due date | Thursday 28t March 2024
Name Trinity
Academy

Grammar

GCSE Maths homework
11r1

Year 11 terms 3 & 4

Knowledge Check
Homework Sheet HAA4.5



Name :

HAA4.5

Question 1
Expand and simplify
(x+2)(x—1)(x + 2)

Question 2
Expand and simplify
(x+4)(x—-3)(x+2)

Question 3

a is directly proportional to b. When
a =168, b = 12. Find the value of a
when b=10

Question 4

a is directly proportional to b. When
a =105, b =7. Find the value of b
when a = 195

Question 5 Question 6 Question 7 Question 8
Simplify 4x(2x - 1) - x(2x - 1) xrZ—4 If f(x) = 20 + 3% find the value of f(-5) | If f(x) = 28 - 4x find the value of f(-4)
Simplify
x+2
Question 9 Question 10 Question 11 Question 12

Find the coordinates of the vertex
of the graphy =x?- 2x- 1

Find the coordinates of the vertex
of the graphy=x>-8x-4

Find the equation of the line
parallel to the line 2y =7 - 2x
passing through the point (-4, 1)

Find the equation of the line
parallel to the line 4y —2x=1
passing through the point { -4, 2)

Question 13 Question 14 Question 15 Question 16

5x x 2x—4 x=1 - = y3
Simplify ——= simplify -= Sketch the graph of y=Y%x+1 Sketch the graph of y=x
Question 17 Question 18 Question 19 Question 20
A block has a mass of 425g and a A pressure of 8 N/m’ results from a Rationalise the denominator Rationalise the denominator
density of 50 g/cm’. Calculate the force of 144 N acting over an area x. 15 5v2
volume. Find x 3\@ 1+ \."E

Question 21
What is a vertex?

Score

www.mathsbox.org.uk




Se
Due date | Thursday 11t April 2024
Name Trinity
Academy

Grammar

GCSE Maths homework
11r1

Year 11 terms 3 & 4

Knowledge Check
Homework Sheet HAA4.6



Name :

HAA4.6

Question 1
Expand and simplify
(x—10)(x —2)(x + 1)

Question 2
Expand and simplify
(x+2)(x—1)[x-3)

Question 3

ris directly proportional to s. When
r=136, s=17. Find the value of s
when r =64

Question 4

¥ is directly proportional to y. When
¥ =35, y = 5. Find the value of x when
y=3

Question 5 Question 6 Question 7 Question 8
Simplify 4(x-1)-4(5-x) rZ46X45 If f(x) = 21 - 3x* find the value of f(-5) | If f(x) = 30 - 4x find the value of f(-4)
Simplify
x+1
Question 9 Question 10 Question 11 Question 12

Find the coordinates of the vertex
ofthegraphy=x*-4x+6

Find the coordinates of the vertex
of the graph y = x? + 10x + 15

Find the equation of the line
parallel to the line 4y =8x-1
passing through the point (-4, 1)

Find the equation of the line
parallel to the line 4x+ 2y =-3
passing through the point (-1, 5)

Question 13 Question 14 Question 15 Question 16
Tx x Sx+2 x=5 = =1 . y?
Simplify =-2 Simplify — = Sketch the graph of x+y =10 Sketch the graph of y=1-x
Question 17 Question 18 Question 19 Question 20
Distance = 14 km, Time = 10 mins, A pressure of 8 N/m? results from a Rationalise the denominator Rationalise the denominator
speed= ? km/h force of 144 N acting over an area x. 20 43
Find V2 W1

Question 21

Give an example of a recurring decimal

Score

www.mathsbox.org.uk




